IF5329

LI TT 5%

IFA3004-BPKG

L

T

M12x 1

— -

C€ g5

77 AR

A PP

i ohie I
R ERE [mm] 4
hhik WAL
JF [mm] M12x1/L=71
TAEHIER V] 10...36 DC
LR ARE [mA] 15; (24 V)
IE TR+ I
ARG f
it

ML Bt PNP

i ThRE I

FF IS4 tH DC L B e K AH vl 25
g%%ﬁﬁﬂj DCI¥Frek it [mA] 250
JFXHi#DC [HZ] 1500
% TR £
L% R AR Jiik
AR H
VEINAEE) [mm] 4

S BRIV 25 ST [mm] 4+10%
TAEER B [mm] 0..3.25
K5 % / i 2=

B IE R AL B L RERRAN: 0.7 1 B 0.4 4731 0.3/ 4i: 0.2
Pk [SrifE 4Lt 1..15
AP [SrifE 4] -10...10
B ik [°C] -25...80

DT () AT IRA R o Bldil 408X « i pr615F 154567 « i : 201203, fapl: 0213813 4800 « f411: 021 5027

8669 + 4[] 11 i i 55 Ak 400 880 6651 — Ffl 15t ff AL A3 11 & HHARSHUBR . — ZH-CN — IF5329-00 — 13.04.2023 — &



IF5329

LR BT TG
IFA3004-BPKG
AN FER LR IP 67
AUE/ 3k
EMCHL /i I 28 EN 60947-5-2

EN 55011 )
MTTF [4F] 1874
MU A E
Eiy i (] 101.2
A5 MR £
e e 12 dk
N [mm] M12x1/L=71
WAL M12 x 1
SR AR WA EE-EEE S BV PC
g/ BAEL
R TR A& 1 x LED, &
RS
AL 3 [ e R RE 2
(SRR 14
45 2 m, PVC; 3 x 0.34 mm?
B

BN L+
L ——
L—Reu O3,
BEHUTE,

BN = SE)
BU = W
BK = min

DT () AT IRA R o Bldil 408X « i pr615F 154567 « i : 201203, fapl: 0213813 4800 « f411: 021 5027

8669 + 4[] 11 i i 55 Ak 400 880 6651 — Ffl 15t ff AL A3 11 & HHARSHUBR . — ZH-CN — IF5329-00 — 13.04.2023 — &



